LISTENING ANSWER KEY

THE PREMIER LEAGUE RUN IN

e QUESTIONS
Read the following questions and choose the correct answers:

1) What is the main advantage for Manchester City that makes them have
more possibilities to win the Premier League?
a) They still have to play against Liverpool and Everton.
b) They have played two games less than their rivals and, what's more, they
lie in third place.

c) This season they have spent a huge amount of money on transfers.

2) Chelsea has moved from first to second place on the table because...
a) They have lost two matches out of their last three ones.
b) They won their match against Arsenal with a final score of 6-0.
c) They played against Liverpool and they lost that game.

3) The most important drawback for Liverpool to win the title is that...
a) Most people think that they will finish the season in fourth place.
b) They have been beaten in their last eight games.
c) They still have to play against Manchester City and Chelsea, and defeat
them.
4) What is the difference in points between Arsenal and the team which
is in first place on the table?
a) 64 points
b) 7 points

c) There is no difference because they lie in first place.
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5) According to the predictions, which team is more likely to win the
Premier League title this season?
a) Liverpool
b) Arsenal
¢) Manchester City
d) Chelsea
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